SOLVED EXAMPLES

EXAMPLEL.  Find the number which when divided by 53 glves 8 as quottent and 5 as
remainder.

Solution Given: divisor = 53, quotient = 8 and remainder = 5.
By division algorithm, we have:
dividend = (divisor x quotient) + remainder
={33x8)+5
= (424 - 5) = 4209,
Hence, the required number is 429,

EXAMPLE2.  Divide 535 by 31 and check the result by the division algorithm.

Solution By actual division. we have:
81)535(17
- 31

dividend = 535, divisor = 31, quotient = 17 and remainder = 8.

CHECK (31x17)+8=527 + 8 =535.
Hence, the above result is correct.

EXAMPLE3.  Divide 53068 by 257 and check the result by the division algorithm.

Solution By actual division, we have:

527 ) 53068 ( 206
-514
1668
- 1542
126

dividend = 53068, divisor = 257, quotient = 206 and remainder = 126.

CHECK (257 x 206) + 126 =52942 +126 = 53068.
Hence. the above result is correct.

PROPERTIES OF DIVISION
() If a and b are nonzero whole numbers, then a + b is not always a whole number.

EAmPLE We know that 7 and 2 are whole numbers.
But. 7 - 2 is not a whole number.

W DVISIONBY 0 Ifa is a whole number. then a = 0 is meaningless.
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EXERCISE 3E h of
y altiplication in each o the follg
Divide and check your answer by the corresponding m I;m) 257796 + 341 g

(1) 1936 - 18 ii) 19881 = 47 _
(lv) 612846 : 589 [(vJ) 34419 = 149 (vi) 39039 + 1001
Divide, and find out the quotient and remainder. Check your ANSWEL

(1) 6971 = 47 (i) 4178 +35 (iii) 36195 +153
(fv) 93575 = 400 (v) 23025 +1000 (vi) 16135 + 875
Find the value of

(1) 65007 +1 (ii) O + 879
(111) 981 +5720+10 (iv) 1507 — (625 + 25)

(v) 32277 + (648 - 39) (vi) (1573 +1573) - (1573 + 1573)

4. Find a whole number n such thatn +n =n.

The product of two numbers is 504347. If one of the numbers is 317, find the other.

8. On dividing 59761 by a certain number, the quotient is 189 and the remainder is 37, Fipg

16.

the divisor.

On dividing 55390 by 299, the remainder is 75. Find the uotie
’ - nt using th
algorithm. a 1g the divisior

- What least number must be subtracted from 13601 to get anumber exactly divisible by 87?
. What least number miist be added to 1056 to get a number exactly divisible by 23?
10.

11.
12.
13.
14.
15.

Find the largest 4-digit number divisible by 16.

Divide the largest 5 digit number by 653. Check your answer by the diviston algorithm.
Find the least 6-digit number exactly divisible by 83,

1 dozen bananas cost T 29. How many dozens can he purchased for ¥ 13927

19625 trees have been equally planted in 157 rows. Find the number of tr h row
The population of a town is 517530. If one out of ey cesneac
many literate persons are there in the town.

The cost price of 23 colour television sets js 7 5700 ;
set if each costs the same. 55. Determine the cost price of each ™

€ry 15 is reported to be literate, find ho®

e
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Q1

Answer :
(1)
33
36 i1936
- |80
136
-108
28

Dividend = 1936, Divisor = 36 , Quotient = 53 , Remainder = 28
Check: Divisor x Quotient + Remalinder = 36 x 53 + 28
= 1936
=Dividend
Hence, Dividend = Divisor x Quotient + Remainder
Verified.
(i) 19881 = 47
423
47 il 0881
-188

108
-94

141
- 141
0

Dividend = 19881, Divisor = 47 , Quotient = 423, Remainder =0
Check: Divisor xQuotient + Remainder=47 x 423 + 0
= 19881
=Dividend
Hence, Dividend = Divisor x Quotient + Remainder
Verified.
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(iil)
756

341 iZS??QE

-2387
1909
- 1705
2046
-2046
0

Dividend = 257796 . Divisor = 341 , Quotient = 756 , Remainder = 0

Check - Divisor x Quotient + Remainder = 341 x 756 + 0
= 257796

= Dividend
Hence. Dividend = Divisor x Quotient + Remainder
Verified

(iv) 612846 ~ 582
1053

582 iﬁ1284ﬁ

582

3084
-2910

1746
-1746

0

Dividend = 612846 , Divisor = 582, Quotient = 1053 , Remainder =0
Check : Divisor x Quotient + Remainder= 582 » 1053+ 0
= 612846
=Dividend
Hence, Dividend = Divisor x Quotient + Remainder
Verified.
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Hence, Dividend = Divisor x Quotient + Remainder
Verified.

(v) 34419 = 149
231

149 i344|9
-208

461
-447

149
- 149
90
Dividend = 34419, Divisor = 149 , Quotient = 231. Remainder = 0
Check : Divisor x Quotient + Remainder = 149 x 231 +0
= 34419
=Dividend
Hence, Dividend = Divisor x Quotient + Remainder
Verified.

(vi) 39039 = 1001

39

1001 ii?ﬂlg

-3003
9009
-9009
0

Dividend = 39039 , Divisor = 1001 , Quotient = 39 . Remainder = 0
Check : Divisor x Quotient + Remainder = 1001 x 39 + 0
= 39039
=Dividend
Hence, Dividend = Divisor x Quotient + Remainder
Verified.
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Q2

Answer:

(i) 6971 =47
148

47 iﬁ??l
=47

227
— 188
391
- 376
15
Quotient = 148 and Remainder = 15
Check: Divisor * Quotient + Remainder =47 = 148 ~ 15
= 6971
= Dividend
» Dividend = Divisor * Quotient + Remainder
Venfied.

(i) 4178 = 35

119

33 jdl?ﬂ
L35

67
- 35
328
- 315
13
Dividend = 119 and Remamder = 13
Check: Divisor * Quotient + remamder = 35 =« 119+ 13
=4178
= Dividend

~ Dividend= Divisor * Quotient + Remainder
Venfied

(1) 36195 + 153
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(iii) 36195 = 153
236

153) 36195
£ 306
359
- 459
1005
- D18
87
Quotient = 236 and Remainder = 87
Check: Divisor x Quotient + Remainder = 153 = 236 = §7
= 36195
= Dnadend
s Dividend= Divisor x Quotient +Remainder
enfied.
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(1v) 93575 - 400
233
400 ) 93575
=~ 800
1357
- 1200
1575
- 1200
375

Quotient = 233 and Remamnder = 375

Check: Divisor x Quotient + Remamder = 400 x 233 + 375
=03575
= Dinidend

=~ Dividend= Divisor *x Quotient + Remander

Venfied

(v) 23025+ 1000
23

1000 ) 23025
£ 2000

3025
- 3000
25
Quotient = 23 and remainder =25
Check: Divisor ¥ Quotient — Remamnder =1000 = 23 + 25

= 23025
= Dividend
=~ Dividend= Divisor ¥ Quotient +Remainder
Venified
(vi) 16135 - 875
18
875 ilﬁlJS
- B758
7385
— 7000
385

Quotient = 18 and Remamder = 385

Check: Divisor x Quotient = Remamnder =875 = 18 + 385
= 16135
= Dividend

& Dividend= Divisor * Quotient +Remainder

Venfied.
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Q3

Answer :

(1) 65007 = 1 = 65007
()0=879 =0

(iii) 981 + 5720 = 10

=981 + (5720 - 10) (Following DMAS property)
=981+ 572

= 1553

(iv) 1507 - (625 = 25) (Following BODMAS property)
= 1507 - 25

= 1482

(v) 32277 = (648 - 39) (Following BODMAS property)
= 32277 - (609)

= 33

(Vi) (1573 = 1573) - (1573 + 1573) (Following BODMAS property)
=1-1
=0

Q4

Answer:

Given. n+=n=n

n_
= ;—ﬂ

= N= ”.2
Le., the whole number n is equal to n2

=~ The given whole number must be 1.
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i.e., the whole number n is equal to n°.

=~ The given whole number must be 1.

Q5

Answer .

Let x and y be the two numbers
Product of the two numbers = x x y = 504347
If x=317, we have:

317 x y = 504347
=y = 504347 ~ 317

1591

317 iiﬂ-’ﬁ-ﬂl?
~317

1873
— 1585
2884
- 2853
317
- 317
0

y= 1591

A The other number is 1591.

Qb

Answer:

Dividend = 59761, quotient = 189, remainder = 37 and divisor = ?

Dividend = divisor x quotient + remainder
= 59761 = divisor x 189 + 37

= 59761 - 37 = divisor x 189

= 59724 = divisor x 189

= Divisor = 59724 - 189
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Dividend = divisor x quotient + remainder
= 59761 = divisor x 189 + 37

= 59761 - 37 = divisor x 189

= 59724 = divisor x 189

= Divisor = 59724 = 189

316
189 ' 59724
—-567

3o2
— 189
1134
- 1134
0

Hence, divisor =316

Q7

Answer:

Here, Dividend = 55390, Divisor = 299 and Remainder = 75
We have to find the quotient.

Now. Dividend = Divisor x Quotient + Remainder

= 55390 = 299 x Quotient + 75

= 55390 - 75 = 299 x Quotient

= 55315 = 299 x Quotient

= Quotlent = 55315 = 299
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Answer:

Here, Dividend = 55390, Divisor = 299 and Remainder = 75
We have to find the quotient

Now, Dividend = Divisor x Quotient + Remainder

= 55390 = 299 x Quotient + 75

= 55390 - 75 = 299 x Quotient

= 55315 = 299 x Quotient

= Quotient = 55315 = 299

185

299 iSSJIS
299

2541

2392
1495

1495

0
Hence, quotient =185

Q8

Answer:

First, we will divide 13601 by 87.

156
87 leﬁﬂI
- 87

490
— 435
551

_ 522
-

29

Remainder = 29

So, 29 must be subtracted from 13601 to get a number exactly divisible by 87.
e, 13601 -29=13572

Now, we have:
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156
E?)I3572
~ 87
487

_ 435
522
- 522
0

* 29 must be subtracted from 13601 to make it divisible by 87.

QY



Answer:

First, we will divide 1056 by 23
45
23 imsa
- 92
136

- 115

21

Required number =23 -21=2
So, 2 must be added to 1056 lo make it exactly divisible by 23.
ie, 1056 +2=1058

Now, we have:

~ 1058 is exaclly divisible by 23.

Q10

Answer:

We have 1o find the largest four digit number divisible by 16 .
The largest four-digit number = 9999
Therefore, dividend =9999
Divisor =16
62

Iﬁig“?‘l‘?
06

Here, we gel remainder =15
Therefore, 15 muslt be subtracted from 9999 to get the largest four digit number that is divisible by 16.
le. 9999 - 15 =9984

Thus, 9984 is ihe largest four-digit number that is divisible by 16.

Q11
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Q11

Answer:

Largest five-digit number =99999
153

653 ’999‘99
-653

3469
-3265

T 2049
-1959
920
Dividend = 9999, Divisor = 653, Quotient = 153 and Remainder = 90
Check Divisor xQuotient + Remainder
=653 x 153 + 90
= 99909 + 90
= 999499
= Dividend

» Dividend = Divisor x Quotient + Remainder
Verified

Q12

Answer:

Least six-digit number = 100000
Here. dividend = 100000 and divisor = B3

1204
83 ) 99932
8

169
166

332
332

0
In order to find a number exactly divisible by 83, we have to subtract the remainder from the

dividend.
i.e 100000 — 68 = 99932

So, 99932 is the least six-digit number exactly divisible by 83.
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Answer:

Population of the town = 517530

(I—L) of the population is reported to be Iterate. i e, (1—'5) x 517530 = 517530 +- 15
34502

ISjSITSJﬂ
/45

67
- 60
13
- 75
030

- 130
9

~ There are 34502 illiterate persons in the given lown.

Q16

Answer:

Cosl price of 23 colour TV sels = Rs 5,70,055
Cost price of 1 TV sel =Rs 570055 + 23
24785
23 jﬁ?ﬂﬂﬁ
£46
110
- 92
180
— 161
195
- 184
115

=115
0

~ The cost price of one TV set is Rs 24,785.
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1204
83 ) 99932
83

169
= 166

Q13

Answer:

Cost of 1 dozen bananas = Rs 29
Number of dozens purchased for Rs 1392 = 1392 - 29

48

2931392
=116

b

LG

Hence, 48 dozen of bananas can be purchased with Rs. 1392

Q14

Answer:

Number of trees planted in 157 rows = 19625
Trees planted in 1 row = 19625 - 157

125

157 ' 19625
~ 157

392
-314
785
_ 785
0

~ 125 trees are planted in each row.

It =
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